
 

Appendix 2 - Questionnaire – Proposed Responses 
 
 
About you  
 
Q1.  Are you answering the consultation as   
 

a. An individual with personal interest   
b. An individual as a member of an organisation   
c. An Upper Tier Local Authority   
d. A Lower Tier Local Authority   
e. Other  
  
Q2. From the list below, where are you or your organisation based?  
 

a. London  
b. South East  
c.  North West  
d. East of England  
e. West Midlands  
f. South West  
g. Yorkshire and the Humber  
h. East Midlands  
i. North East 
j. National  
 
  
The proposed allocation method for support costs  
 
Q3. Do you agree with the proposed approach for allocation of support costs 
(population-based formula + labour costs adjustment)?  

 
a. Yes  
b. No   
c. Comments  
 
 
Q4. Should the labour costs adjustment factor be taken from a) the existing or 
b) the updated ACA?  

 
a. The existing ACA  
b. The updated ACA  
c. comments   
  
Q5. Are there other factors that should be included in the formula?   
 

a. Yes  
If answered Yes, please provide evidence in support of the argument.  

  
b. No   

 
 



 

Q6. Do you agree that funding element of support costs should be allocated to 
Tier 1 authorities only?   
 
a. Yes  
b. No   
c. Comments  
 
The Council would welcome receipt of a proportion of this funding to help ensure that 
those being provided with support in safe accommodation within Pendle, continue to 
be provided with sufficient resources to meet their needs. The Council, along with 
local support providers are in an ideal position to understand local needs and 
commission services to meet those needs. 
 
 
The proposed allocation method for administrative new burden costs  

 
Q7. Do you agree with the proposed approach for allocation of the 
administrative new burden for Tier 1 authorities (equal split + labour costs 
adjustment)?  
 
a. Yes 
b. No   
c. Comments   
 
 
Q8. Do you agree with the proposed approach for allocation of the 
administrative new burden for Tier 2 authorities (equal split + labour costs 
adjustment)?  
 

a. Yes  
b. No   
c. Comments  
 
 
Q9. Are there other factors that should be included in the formula?  
 

a. Yes  
If answered Yes, please provide evidence in support of the argument.  

 
b. No  

 
Q10. Is there anything else which was not mentioned in relation to the 
proposed allocation method and should be considered? 
 
No 


